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A few things to note about this minority-carrier concentration plot: 
 

1. At x=0.5 micron, the concentration appears to go to zero.  The actual value of at the 
depletion-region edge is equal to npB0, or 104 cm-3. 

 
2. But this doesn’t matter: by the law of the junction, the concentration at x=0 is 

more than ten orders of magnitude greater.  Keep in mind that what we really care 
about is the slope of this concentration plot; whether the value at x=0.5 is 0 or 104 
doesn’t make a difference, since it is much less than the value at the other junction 
edge.  So in the end, you can assume it is zero and still be ok. 



 
 



 


